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Answer all questions on this paper itself. Index No
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ufissflsr o LGUNSHHBES LOTHHATID. DEQUITTILID SO G eren
3 9,
) For Examiner’s use only. ~ Signature Code Number
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2 9» obSemed
2 2-8 2 oug ufi Feiy
3 9-16 2nd Examiner’s
28 / g sSPemed
4 17-24 N
Cuwsvdas / Nysren ufl sai
5 25-31 Additional / Chief Examiner’s
o0& ulened
6 32-37 aremiseiisl LflGan sei
7 38 - 45 Arithmetic Checker
g sSemed
8 46 - 50 dogner ufl sy
. Chief Examiner’s
Oond / Grgsio / Total J
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@ 2o 1-25 o gemodc B0 B8/ enid, &8 o B @0 O Bozsim.
1 Qaridsd 25 euenyuisiten allenbasenses Ffurer olwLous COS5faCFs, SIgH6H RNVHEHHMSBL |
LeiteMbBamiigsi 1551 610051%.
Select the correct answer in questions No. 1-25 and write its number on the dotted line.

¢y

& 318 b O wdylien B e qeEodeds (¥) crnesd swdss OWIG OB G @ded @@ &?
SILLLBeTTen  LIT]  LJemIomLuHBE elervl Néad (%) Grull Goas &0 LweLBHS Gousmngur Gyerdr
WITeneu?

Which rests should be inserted below the asterisk (*) to complete the given bar?

n \ i
5 = :
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(2) & giB ©.Bn DedRE0 ey 088 Bderldin vvm ecns’ $0183 @ ¢?
SIULLBeiten RenaFCLLFlLbE CUTmBSHIT fip FoEBaFsy LeioimeleeBpe 6igi?
Which of the following would be the suitable time signature for the given extract?
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(3) 000 w.Bn dedted B O sve S8 2O ¢?
@ps Boms GuwIinies & Lsienmeusneubie o131?
Which of the following is the key of this passage?

p—— p—

% & ';‘:’ v,l_—@ﬁr: e R YD,
?—Ed"blﬁ"‘l

. 1 | | % 1 -

(1) B major (2) C* Harmonic minor (3) F¥ Melodic minor
4) C* major (5) B melodic minor ...t )

(4) & B desiced B91GE 2@ der’ von DB @3 &?
Sy Geiten s108He0 @1 Fflwimenr GlLwy LesreumeneTeNBHDIeT 61517
Which of the following would be the correct name for the given scale?

bo ho } \
X T Y B
il O I
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Z s [ @ ] hoy
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(1) Pentatonic minor scale (2) Dorian mode (3) Harmonic minor scale
(4) Whole tone scale (5) Aeolian mode Gonenn )

(5) F 8900 o083 8805300 wam &0 st egsiend son & g S01823 RO €80ds ¢?
F ebajssibgs &6p oDl gs0wen | sals sy Goamiim e & Swmfling eeumeueneubmisit 61ibhdb
sroauyib?
Which of the following forms the interval of an Augmented 6" below F?

) .
O oB=d olts o= oF (o)
(Y]

(6) & B 300 qgimded @T3Obess O drferd Lwm & a® S8 @ ¢? »
Sy Beien  eoeuy GCoumiLImt 1gest BeauTage yeug LeieumensneuBuIeT 61517 ﬁ 17.018 ]
Which of the following would be the inversion of the given interval?

Pa
<>

(1) Augmented 3™ (2) Minor 6% (3) Diminished 6%

(4) Diminished 3™ (5) Major 6' Goonnn )
(7) & a8 B 8Jerioded e@ecits 880l aredioes doced, d®Bwsi0 HBOds dxlesd -

s S08s3 @ ¢? 155

Sy Geiten & AbCangaflein  LoGeomgd mweny BrTaamr e0Bsele FUNSigUisn
aoeuytd  LielTeugheueTsUBIIST 618517
Which note is the sub-mediant of the ascending form of the melodic minor scale of the given key

signature?
s %c fc\a. ) o
M ot P =2 3) Ly @ ope] ) = Coon)
)
(8) s & B 00853 8 08»8 B om0 gpe emisienid S Drles e ¢?
eiteumeusneuBmisii o enweai) & @B CaETamCsT 61517
Which of the following would be a concord in the key of D minor?
i o O
?5 2 WK S ) S L)
O == IC B== o oBEH o8 -
e [y
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(9) oBZE B S, 08 Jud Odess & ¢ S8 pe c?
Guog) & geinilsd, Gy Lyw sueugl HIILC GeisTeuBmIsT oighl?
Which of the following are major triads in a major key?
(1) L, I, VI 2y H,1Iv,V 3) LLVLV @ V, 1V, ] G) v, v, Vil

(10) & 818 emddzsiess Suns oY CRTIe swn Sl pOBSS ¢?
SIULI_Beiten GasL_sbierd LNsiiaumeusmeuBmIsi 61SH65 apeold aflLifldaILGaEIBE?
Which of the following would describe the given cadence?

(1) Interrupted in A major
(2) Imperfect in D minor
(3) Mixed in E minor

(4) Phrygian in A minor
(5) Perfect in E major

(11) & &8 S01823 emitum 0508 806s Se® e230Ed e0med® 5@ S8 0 emide 8®6 Sdemnid 8@
Bedns oy cRles’ 88 wOSxs ¢?
Usiieubeusaisupmiehn G’ geiflss LT eoaufio BHBE& SNBSS Gbrl BbE baIamSHSH SHTOGHIOTES Ll
Gl o L6 19er08HI. Su@id ammiosnd CHT.. @emen alleufliiug e151?
Which of the following would describe a harmony note that delays its move to the next chord and
become a discord with the new chord?
(1) Changing Note (2) Appoggiatura (3) Anticipation
(4) Suspension (5) Auxiliary Note

(12) ‘edoews? v adip Bedm BBz e3¢ s 01823 O ¢?
ReuBmieit ‘Ceuslons 6l6iB HMmBMSHH HHD BGmywaiul CFTed 61h1?
Which of the following is the German term for ‘fast’?
(1) Lustig (2) Zn (3) Schnell 4) Mit (5) Und

(13) & @B 800823 emidws Dueme e emmidess pOSwst &?
SIULL BeeneuBmst Car geiflensn RenaFdbd (PIQWITHS 61H65 APSOLDTED?
Which of the following will not be able play a chord?
(1) Harpsichord (2) Trombone (3) Viola (4) Double Bass (5) Piano

(14) & 418 &G0 Bl’ 980w BES Drgmw e BO grews 806 drless e®O8s3 e ¢?

SIUULBsiten eoeugip B° @ewen L pibul geipfleimed @enss@n GuTS Cal @b ervsugid @NBNGT 61517
Which of the following notes would be sounded when the given note is played on a trumpet in B ?

I)(") — — Jn )
Q) =¥ 3 IH— @ == 6) L5
[

&>
<

(15) go® ©o® L02BO MmILHE BE V(B OO O g 85033 ©IsHn BEOE 8 O» W@ v &
318 B8 ©:.8m0¢ w08 weo8 ¢?
emiEelel  Gredanmed SUIBMmBWLITS BMFEESHHEE G oL o Wihs ealFfled @mFsaad Curs
Cahreiipid GJed Llsdeupld 6ihd SFHESHI GLiwiflenmsd SPwNU@Gw?
Which of the following musical terms denotes a male voice singing above its natural range?
(1) Portamento (2) Falsetto (3) Vibrato
(4) A Capella (5) Tessitura

(16) ReweyE 800 yedmowm gl DOmewss ‘emiesy’ ece Eedsiess & g1 J018s3 @83 ¢?
QOGO T6b  6r06uy  UEMIGLITEITsD B@ssredllw  Gomfl  QFTevedleyd ‘CaHTGeun’ eteid  GMIIILCILGUSI
SIULL BoileNeuBmIsT 61H6 PN GID?

Which of the following would be the equivalent of the Italian word ‘corno’ in an orchestral music
score?
(1) Clarinet (2) Oboe (3) Double Bassoon

(4) Horn (5) Piccolo
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ﬁ(17) oo & ¢ Penddc ©dn wedd gneds’ A$edd 6 Y5 5 €800 estees gites @ meam ¢?
&Bip FHFIILL Beien OB J60 BenabsmelseEne 6% @dbbLsl aveuy efFmss CETMILS 6bs BMFd

SEmelum@L?
Which of the following orchestral instrument has a range of about 6% octaves?
(1) Bassoon (2) Flute (3) Harp (4) Viola (5) Hom C..... )

(18) € a8 00823 oBemmd ai® PTG (EBowies’ B3 @ ¢?
SO BeitenauBpiesT @IDIGCHTHB 06d GempeuTen QHTLjenLs CamTerngmuLs 6151?
Which of the following is least related to the others?
(1) Cantata (2) Ballad (3) Lied (4) Folk song (5) Aria Cooenn )

(19) oo &8 aB S08s3 edis Jousd gusl Demedy wH i SE D Dedtn®s g By Vemesgc
DB Dedmd me 1B gy v200s Oxtes’ RS ¢?
Teiieumeuanaupmist LGS WBSHIGGIW @osevlgr o L amar AR SmFbGUabETS  6ISHIULL
@@L J6b UL LIGLITEmD elllflbssHHbe CLUTHSSHIOTEN Quuiy e1g?
Which of the following would be suitable to describe a composition of the Baroque period for a
small group of soloists with Orchestra?
(1) Chamber music (2) Cantata (3) Concerto
(4) Symphony (5) Concerto Grosso (..... )

(20) € &8 S qredsd BOICE ymew driess RO ¢?
SILILL GeienauBoiet FAwrel sBom 61si?
Which of the following statement is correct?
(1) Free Fantasia is also called Modulatory section in a fugue
(2) Komala Ni in oriental notation would be A flat in western notation
(3) A Coda is a passage added at the end of a movement for a satisfactory finish.
(4) A cadenza is found at the end of a piece
(5) 1.S. Bach was deaf when he died C..... )

(21) g1e808eds (*) OB e ®S gif B0ds »® B wrders & a8 203 »OB ¢? "
@@ slerol flberd (*) @evied GBIBSILIL BeiTer eroeuMD ST H I Beitsneubs eTIGILWIfemTe0
SN I_Ou@Ew?
Which of the following is the name given to the note marked with an asterisk (*)?
(1) Anticipation (2) Suspension
(3) Auxiliary note (4) Changing note
(5) Retardation (...l

(22) 0®® w.drmss areds ‘¢ Busl n8D” DeFENe®D gurl embdes mYG1ZI ¢?
Hetaumd Qs pHGBIGeNe0 ‘S JORUIEH DLI6H 6IEDID &IPS 6T QHTLTL @evsorgeuy wimy?
Which of these composers was not associated with the group of “The Russian Five™?
(1) Rimsky Korsakov(2) Balakirev  (3) Mussorgsky (4) Tchaikovsky (5) Cesar Cui (..... )

(23) ‘SOz eoEB®’ RErers WO Cleg WY B8LS ¢?
‘Cegioet Qrdafd’ wImyTed o meumdbalu L g l?
Which of these composed the ‘German Requiem’?
(1) J.S. Bach (2) J. Brahms (3) W.A.Mozart (4) P.Tchaikovsky(5) R. Schumann (...... )

(24) & (B OO O BOISFD DD WSB PSS 30530’ o S08s8 wOTSS ¢?
Weiaumeusnaupmisi SIUILL Bsiten @FenCen. Geven Fflwe BMEHEGID (PBENW &T_Heug 61547

Which of these would be the correct way of playing the given ornament? A o~
~37 ) e
> p 4
D & —— @ %] SEEE
H
£ : 4
(3) oy ] i @ {8 — —
o E Y ———
(5) s - (....)
A4
| R —— —— -
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(25) ‘B @ @8 B w B Bos ames Dot svn $Hr8xs3 O ?
wfwur wen 10g el 66D BITHAILN 60 Lleaumeisiounmisi 61860 L mialujsitenes?
Which of the following has the Nurthi song ‘Sriya Mana Math Vee’?
(1) Vessanthata  (2) Padmawathi (3) Dutugamunu (4) Sri Sangabo (5) Ramayanaya (

@ 2o 26 80 50 oo yevy we oS 88no wewsim.
26 Qg ssd S0 eumywien eNTHHEHEGF FHHHIOTE 6fleDl 611D,
Write short answers for questions No. 26 to 50.

(26) o> B.Bmed MBS 8 e ecod Swsim.
gwarer Pamguiled amrjwaiuier SIeHiG LGWILIBmST 61(10HIS.
Write two features of harmony in Contemporary music.

27) 8 a8 #Hedded ‘wedesiamus’ B c3OsIB.
SILLIL Belten 6r0CL6N Beir ‘FeroCusiiogeil’ Benedl IBHHIH ST H5H.
Illustrate a suspension in the given stave.

(28) 228008 BoOE ¢330 credn clvas 6codd Ensim.
BIL&D LM 60&6iMed STamilLIBL @Tei SHDFHISMET 611DSI%H.
Write two features found in Nadagam songs.

(29) D98l 8823 BB ‘eiewigsl Vewcied D8 ecHmD H® THim.
ourdenflened slpBILLL ‘QeorOamsidfsn’ siaim @BuyTels @peii® LTS sl QLW GBILIGS.
Name two characters in Wagner’s opera ‘Lohengrin’.

(30) gef o8B0 Bwexdos @ @130 Bwezos gm0 B eOmen® ecnn wens? wSHID.
oI HumGemeys@d  &yren’ HunGamas@h  cydwisubpibalan uleotear GCoupiLn@ost SFeaien, &b
GLTOY:S
Mention two ways an upright piano can be different from a grand piano.

(31 8 B 2090 orgeem 8w e@ernedimws »8n o8 Bustm. g DO BOSEO
e08DE0 ©wgs3 Buzim.
SIULL Belten  LFTBHEHEGID CUTHSHTE Fhsoreens CTCaBITadl @eienBil LWSLGSHS 1psis.
2 flu Gempemens aflmen ‘Chr e’ Qe &6 6IpHIS.
Write a rhythm pattern on a monotone for the given words. Write the syllables under the notes
correctly.

“The baby is crying, oh what shall we do ?”

(o3 890 acsi» / wmussn unjes / Please turn over
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(32)

(33)

(34)

@0eddBs vy RO E Bunc m0 & wewr O Vi B.dnuned »® B0V ©gPs WITIH.
@BBLTAGWT e6mIed 6clsiien  eleiiLinG elufiHH @B 2 SHTTMHMSHUID  AHN BmF o b@&hoflel
Guuwisnyud GBILIGS.

Describe what an oratorio is giving an example and naming its composer.

‘Coz e300’ BNEdsS v €edsien’ RO ¢? On BRI sdn Mmedlus »® DIBIH.
‘ool GHTLT slsiLgTe0 GUUIL(IBeug Wigi? S CHTLTUmLW Gensdbsmel geinfler Gy

GHIGS.
What does Una Corda mean? Name an instrument with which it is associated.

e} auSes’od =80 896s ww SOl 8. $00s s edme, § ¢ Bedded Bewr P8
e 8B woBI™.

oI eiBFRILL.  UTdml  eoeuTID, sidbFei L urdm  ervsuJid  eTeILseNBMmIbElenL_uleoren  GeumITL eni
SO Geiten  e0BLs @0 dipemen elloufigd ellendds.

Explain the difference between an unaccented passing note and an accented passing note illustrating
it on the given stave.

(35)

(36)

(37

5 BBrwwn B823 Bg vIeme e DO» ¢ vef 800 @ ¢?

wa&AwoTeE BRenF UGBTI PMmAITER FpSULLL aMINILTLG SmFamw o 6ileM_dhaAlUl (pHeoTeug &-
uel wrg? ‘

What was the first symphony to include vocal music written by a major composer?

g 18 Sodved C e®sU8 V'd-1 ogm Seg® Bew ¢=osin.
Sy Geiten aoByey @b C Goggy @6 V-1 sn @G Sjener alaifléaas.
Illustrate a resolution to V’d-I in C major in the given stave.

g B B Dedin edto ©.dn B0 ece s8otpmE WIS,
SO Geiien @endH OHTGHUML SmPSHEHUL QMg eOTIONS  LOTBBIS.
Convert the given passage into oriental notation.

N
153 I el }
o y
: =
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(38) »d woedd D PP ‘BE eNBedecs ocs BEsiedriert O c?

BIIDL eUTSHBLITIBeT BmaluFed ‘Hed QUTEIQOFGT 6IaILIGTE BHBSLILGUSH WITEH?
In string technique what is meant by ‘Sul ponticello’?

(39) e oS ENHOBOI VO OB OB Oy WIBOREO &30 20 B® »90eB53 0wgHIO8 ¢?
Guerd  aveugCloTaIedB PBISSTH @I  WIBILEGD  aBTWeNSE, 2 _&5Ha|H60 elshien  CLWITT6EL
SIMPEHBIILIGLD?

What is the name given to a sustained bass note supporting changing harmonies above it.

(40) 2 8 088 88ex3Ocwsd 330 BO08 e e 3 G &80066 008836008 eres 08 853 s O

©o®ubes oI,
STULLBeTen oD HBCaFFmbHmOL  Filunss OHTGHHMMESR G avasms OF0EGaeFTH
LUWeiUBSHS Syl Geiten UTT Gemedill LT ILGSHSHIS.
Complete this bar with semiquavers on G, correctly grouped according to the given time signature.
5 —
[ f.an )
AN )
[y,
(41) ‘e®Bd vm DOms BEHs DI,
‘ComgLs 6168 UBGHMS 6MLIfldES.
Describe the word ‘motif’.
(42) c®® emiDs 8 Sz, ) - !
Bbs Cx1. et QUL GBS rm'w’fuwg
Name this chord. Y
&) !
el L [
7 P —
P
(43) ®8Bermredists unedss v slers pnos ¢? O Bo® dbved w.8nwus ne B0 cred ¢?
‘CodsCpr Gyraied’ eeILGoG WIF? BnE 6HF cuns Benauisd ST HHHBHTUI RHSHE1D?
What is meant by ‘microtones’? In which type of music would you find them?

(44) & a8 €56 eemd gnd edild Bw Sed c? bo
SILLL Beien  eroauymisel RrewiBoH@G Beniuled sihFHemen Grreisroser o sitenes? ﬁ
How many tones are there between the given two notes? #;

(45) gbded ‘9P WD g1y B 1D Snpd &g B . OO w81 redd) e ¢?
MQUILIge Loy’ &HefldiBLL’ aisiug SiFTHIan Qmss smalselal  OHTGUILGSTS STIRSLILI L HTELD
IbdH PenFd HMmaNB6T WiTeneu?

Schubert’s “Trout Quintet’ was written for an unusual combination of instruments. What were the
instruments?
T

(o3 899 Acsl» / wmussd urjss / Please turn over



https://pastpapers.wiki/

AL/2019/56-STE-I(OLD) -8-

(46) =080 2 Omes) e78® e & g eIDEd HOB emid eCrs Oy IS,
uTdm 4 @B SWUTigBaTE SIiuGsisn Coil BB Cuoaud ByeiB CoTlsamend
Add two chords to the given chord to form a passing six-four progression.

[ a0

;
gl[)

I

| ’d

9]

O TR

axYl
V.4

s

[o”]

Y[

(47) ‘R03 B3 ¢ ROCE Oz» WS Cgeq YIS B8sS ¢?
‘srjenionsd @e SiellosvsTy’ @ement eTapgweu] wiry?
Who wrote the ‘Carnival of Animals’?

(48) € g8 B> O s B GR YPICH BBLtmenz Eosim.
SIUUL_(Beften @emweii. Gevenl @maHe Gouatingul elHHMS PPMOWITES 6IIDSIS.
Write the given ornament in full as it should be played.

o
i Ol > ] |

G .

(49) Bced descw emdews’ Bdno DIBIB.
Lemer 610B&HeD CIRILMSF SH(HHHINS eleuflbEd.
Briefly describe the blues scale.

(50) 8 B B DeBDEO g3 BobD e Busim.
SIOULGeiten Bendd 0HTGUILEGS &6 sl Guad 6I0Ss.

Ba5HG%.

Write the figured bass underneath the given passage.

@ Bove v 6cdg v vud & ar>.
frumen, SHODU LSBT SC SHIULIL (BeTere.
Sinhala and Tamil terms are given below.

Sewsite - gedinen TG eingmi 1 CymesemnD
Boewsite - gdedinen 19 QFeTigm SI6UCITH6TILD
30 - o0 Cum GTOGULD
ou30DE B alentoyrorele) @6ty Gesd AL Geuel
50 - 86@s @meror Quley
23D - esdone @&Gy6l FUHLD

8e® - 8¢®c flaep FhHBHID

30 - ®mp (hji} LOTH Sy
80l - €50 »ow QaL0Gymedn UT& ST
e - edglen 800w Gyeit (WwseHTal
Qostedenied - @ 86O L_rmastero@umerd LDTB331FH60
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tions, Sri Lanka Department o m&@i

Mﬁl& Sri Lanka Department of Examinations, St Lanka
LBang § eom: Bme of mwm Gcﬁ)bmﬁ@aimé & som 8w ocoboeBaad
Poch b Beokisnati L GBI h | lene Heis %e\um Zy] Léd)d&) as
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(2086 woBme 11
Gomwstipn sutzs 1 | (56)[STE]((11)
Western Music 11

(ot 3 [

OB LBVl BUITeVvLD
Three hours

Cuevdls eurdiy Gpyd - 10 Pl _niseir
Additional Reading Time - 10 minutes

qO0 5008 CE - 980 108 ]

aOn0 S0d8 mEn S 5ac Bt gdD emIC) MBROS BENC! E5edE RDPOP 8CD OB LDNDG )
D0 S00T emCINDD.

alamiusArsms andsgy, clomssomans 0sflaCsriasbed el awHBLTE (sigIfietd aIPBIGD
allamEEmEN UOBEMIDGHKS CBTeusBGl Cwends amdin] CHIsms LWGLGHSIS.
Use additional reading time to go through the question paper, select the questions and decide on the

questions that you give priority in answering.
\

500 goded
AN
Index No

1 8o gBBG 4100 I w» Il 0808 &@» B¢ B3 emiciconm, s CHDO BER; 60O SR ® sowsiz. )

1 g aameipae ued II, ugs I adsuabldnbs Aaalyead clamssmens CHAaEFIIS), EOMTONS
®b@ elamssendd BH5oraiColu alet sms.

Answer five questions including question No. 1 and selecting two questions from each of the parts 11 and
1 on this paper itself.

S

For Examiners’ Use only

(56) Western Music 11

Question No. | Marks Awarded

1 Total Marks

5 (In Numbers
In Words

\.

Code Number

[ . .
Marking Examiner

1
Marks Checked by:
2

| Supervised by

J
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6T6060M TSNS BEHHBGID SHINLL Beilen Rensll QUWITUMU SIQlImL WITHS Carei®G eallenl 61195,

530 B @80 dedds cresaid DieRBS BrE @ yEHOCO BEQT vuwim.
Study the following music score and answer the questions.
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(a) B3xedd 8 8 O »® wosi».

WigniCe” LGHFeMaT & @6 GLWIT SH([Hb.
Name the key of the Minuett.

(b) 8200 eme e@Bgecd O gge 8 Ot wgIens 8 B e2VBOC wewz! WIBTH.

BgiCen’ LG Gumguibeol. UG, Gb & Sl s SeuBllar UTfsefsar Seobsnisamens @Gif-
LG,
Identify and state a related key to which the minuet modulates giving its bar numbers.

| G P Bar NOS .oovviiiiiiiiiii

(©) Sewd emded Bbedsid Omwe wEENerm O AL @2»BOC 8O LGz’ Wosi.

LG uGHulest Fe@Gbeueeny Palenp DAMISWIG SuBBlal LT Seobshismend GEUILIGS.
Identify and state a sequence in the trio section giving the bar numbers.

(d) 9 8sE o0l edinE BbedsinunEed wews’ wozim.
®a fusd Soevg Grraned FHG0euTEID DT aaih SHLIGES.
State whether it is a real or tonal sequence.

(€) s eS8 & 18 Bmedd edewd A 1-16 goc 8 vdevsias’ Vs crpey »Om.
SIDLILGGHoW  LLSUGSS  SIOULGeten  WeaiGeu” UG Huled 1 -16 euemgwimen UTjESEHSSenLUT6D
STMULBD FaOOUagET MBS GBEGS.

Mark with a bracket a suspension used in the Minuett within bars 1-16.

D 000 ©.8» daded eOdew O dund mOzim.

Bhs Bmsd geRnger QUL Bener alaiflads.
Explain the tempo of the piece.

() @ go> 82-83 crpeq @823 D we G Gmds § g8 Hedded Euzim.
uny Bevdsid 82 - 83 Bene BHiG6T euengl meulamed Gamsdbs Geuamigw alshas SHIULL Beten evGye6il
B60 11D,

Write out the right-hand part of bar 82-83 in the given stave as you think it should be played.

(h) c®® miBc Bw gles RO @ni® e ¢?

b s 6bhd (FBumb @6 aapdlnn’ Geleng?
In which form is the piece written?

(i) 008 ©.8n deted emi® O enwdewrs’ Sunc wosim.

Ohs Bmas HWILSHe Cumbd Bmean SheHIDG aleuflbd.
Briefly explain the form of the piece.
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() & 2B om0 0ugeds ool DO®E ) 988 ets® ecsis.
SIULILBeitel &(hdbdHd GHUT ST BHHTedu QFTLMmeOUID SIUBIBIET SHBIFID EHHEHMBUID S(Ihb.
Give the Italian term and the English meaning of the following abbreviation.

Sewd emens gwdeRes0 Sudnd we vrEers emeeyd wcwsd mSHim.
LG LGHuiler SisCsTDLIENIEN Gena eeleuTy BrIG6T eleuflbseTD IGILSMOE S(HbBIONE GHIIIBE.
Briefly state how you could describe the accompaniment of the Trio section.

gewl emds et O exsinw s B O »® mowlD.
LRCWT LgHaes pigeusnLud, GaLaien, & syBweuBiier GuUW) GBIGs.
Name the Cadence and the key that end the Trio sections.

Cadence

T gozd 54 8 ©ef 3O dond odda »HO® S,
uTy Gevdsd 54 Ged (pseomeugy LB T CHIL Beit GUWIT &hHe.
Name the chord on the first beat of bar 54.

Bnedd 8.8 o dDms 8823 DigmwId wdsiess O ¢?
B@iGai’ 1o, & elgnd GFTBSE6IT pevld BMFUILMIDHGE ©_ITSHSILGIS WTE?
What does the term ‘Minuett D.C.” indicate to the player?

8 29-36 gren 08 emens TBRE sum e300E O vegIweos ‘Dim 5P ece creay Do

ury 29-36 @eieiGen Buerd uGHWIET dafed wHHTD Bemeasd Semar Bemsam® ‘Dim 5249 e
N CY: X

Identify a Diminished 5" interval in the bass part within bars 29-36 and mark it as ‘Dim 5%,

0®® B B® Gownmd gost ed ¢?
Ghs sl UGS HHd BTVGHIGEG = fluig?
To which period does this piece of music belong?

©®0® 28w By w-Boww 8823 Bum ¢ v SE®renws »® ©owim.
b3 GoFiugIuia Bems ubGHaT] spHu CaropTmp OLHEOTSNST CLUIT SHmHs.
Name another composition written by the composer of this piece.

80000 emde 0 Jowl emds god af P OmEeS Bonim.
V@it uGg, fCwr ugd easuaBpIESmLulona sdu Capn® ealmns: GBILIGS.
State one main difference between the Minuett and the Trio sections.

J
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(S) @93 LSedded A5 38 @ 39 € g8 Ldedded el 2 3 sregd Jridenisd mowim.
Cpfed eoBret et 38 aub, 39 aub, uTTHefed Sy Geiten e0OGT6l Bed Goge) 2 Geir BB L gmeiGuTerd
Gauis.
Transpose bars 38-39 of the treble stave a major 2™ lower in the given stave.

t) 0 8B O 8 OB,
yHw & Geir GUUIT BH(HE.
Name the new key.

Il ezo0es /uggd 11/ PART 11
B0 ® ya> ecoDO BEMO wewsi™.
aremauBLignd @reii@ ellemssend@ eflsnt Wefldgs.
Answer any two questions.

2. @8 s ‘om0 wods” eped Pitenisd »d 0 8B 8dexldin e@wig BT Bedd Vs W)
e368y e ®idn 3 Busim.
@hs OsT@Uimean “braig CUIOUSL” GwsBHTEE KRITEECUTAD CFuIH LS & AsCarFFamyl LWHILIGSHS
aofler Ganm GLL @il GummSsHwrear &Gl ULETLUGHS CIRDHIS.
Transpose this passage up a Perfect 4". Prefix the new key signature and write for string quartet with
appropriate clefs.

N
u#u f t ! ! T h f_'"; 1 l h, ,,l
3 _!!__,__‘L » f L4 ‘_#.t__‘_ﬁu:l L a =
8 T |
| ! J =l- Jl“g ﬁgm—i'—_éi J
%l I l'. ﬁ +— 1 { = H
=" | 4 —_— |
o/
4
\

J
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3. (@ a,b,c,dw e ec® genexH® (a), sudewsies (b), ¢388edsss (¢), ®FBES (d) » @080 @30 (€)
W B0 demiced erey »ISID.
avBarfled a,b,c,d,e eter HBUTOL yeu (a), FervGLIagE (b), siaigfCuageat (¢), gddeond (d), urdm

GrT (€) Bl aveUTFIEMeTS Gfihs.

Mark on the score as a, b, ¢, d and e an appoggiatura (a), suspension (b), anticipation (c), auxiliary (d)
or passing note (e).

—

. P

1

E

S

TR T

_"“T_ —Sel

X i_;—w
. JL Vi

i

(b) & 418 088 88BerOcwd amd vun .8n deatted «€Oc B8 eCes wesd) 3 8 8z ewicr 3On

Busim.

SIULI Geiten enyib HECanFFhobEmDL LGB GLosvgenul eaIIkIGMeNF Ffluime OHTGHUTES umy

aIflsenenlt LWETLGSHS 1eHIGID 611pSIs.

Rewrite this melody adding bar lines grouping the notes correctly according to the given time signature.

- Y
1 20
i ] | veal 1 — *
H H i i : i i ! —— &

o~ —

(c) 0®® BHEIOS gy e G FIPICHO BB emens’ Bunslm.
Bbs et absmen Bemads Gouamigul oSS0 PIYEIDUITES 61DSIS.
Write out these ornaments in full as they should be played.

-

-

i
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b
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3
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N2
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4. (a) COExS 990®» w0 ewiE e0isd domcn ©8m I8 BE8IG e5¢mr D 20D woBn DeFDE Busm.
B 8desios 00 eMBODD. 2GS gdes gBeDHOE ewicsi.
C 8e0mha auiblse CammeoGyme eBse LWLSLGSHE Denflar. OBG 8 UTjEHmend QHTaRIL. GLoevlg
@aleal 6upsis. & FHECaFs] LWSLGSSTSIS6. SHinlamb Comeaurer HGACL G 60 LIGTLIGSHSIS.
Write an 8 bar melody for clarinet using the whole tone scale starting on C. Do not use the key
signature but write the necessary accidentals.

i
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(b) B 0@t deiced eocdd et 88mis B 8dexiods o8md pedines w» gdedines gumISEO

©

BedobORs Busim. aiCed Bect »18n 0 £cl 985 ew®edis’ e wossm.

B Gumiy eBsedar Gevigell QuoBeumgs emwwear] & HaCassanysd Oomawn gre CImHent, ieuGyTa et
(pemmuied &Geucujaperied eIIpSIe. HIGVCLT HBsrict Bemanl LILIGLIGHA 61060] Geir cipeurd CFIGTTES GilbE&HS.
Write in quavers the ascending and descending forms of the relative melodic minor scale of B major
with the key signature.

@®® A3g0 eOCBWO edyy3 O ©gwI ges R emder O DOBIH.
Bhs LeOTRIGDM CegsE CusET @EmsGl GuTHSSWTa Cuad LGHmWE Cajdes.
Add a suitable bass part for the Bassoon to this melody for fiute.

0 o — P —
¥ £ A ] i 1 H I H j { 1 i
BN w,_:.;_ i ; > F_'_F’*_
i T | ) t w T "“"’j"’”""""ﬁ?""“"""
| 1 H () 1 1 I
%::B:J — — . —— ———
E\°. o
g
L » ]
n > : | H i ]
s ! : = _IF { |. H i : 1. 11
) ' ' - g ——
3%
LN
Y
P

0®® Qedded gue @m0t B LY BoD. (a) ¥ (b) B edmntd B ecwm ©18. 83 end ew (¢) 8 n»
emedsied 85t enl widn mosim.

B5051GHuID CuBLGHa6 apamiiaaujd yraiuGssis. (a), (b) aaduaBpse Cup & Syesigamen
urendiit Aded Bunr Beneujib C Big GaLaeniiwed dobed CuT @eenyd LWSTUESHIS.

Complete the three upper parts of this passage. Use at (a) and (b) passing -six-four in two different
keys and at (c) a cadential-six-four.

01
[}
l:'hl y, /- i — »—— —
e i ] |= ! | i i i r
@
(b) ©)
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III @200 /ugd III/PART III
B5® y&» 6CHBO BEnT| wowsis.
slenauBuigid BJewi® NaMbHEnG@ Nl Weldgd.
Answer any two questions.

6. 2 g8 Bobd edd 0m D83 SATB &g 0@w 0@yules oD, ¢om ¢ S0 010 gomns ewidnsd g
R BEDSID.
S Geiten Liaferd Guerd LWETUGSHS Sbd SATB Geer LI ILGSHSHIE. ST LUULC BeTsnane Hail eeneiu
G wiesr g E BHDIS.
Using the given figured bass complete this for SATB. Assume that the chords are g unless otherwise

shown.
i
11753
"))
N hg »
iﬁ—'—f—f—— I alil
| |6 | I '6 J r’ l
6 6 6 3
§ 3 4 3

7. (a) & g8 20 ¢y RO Bustm. 8 e@Bgecomw:s ©I8D O eSS B dewzd gdesd wo>.
©BO0OEO €3 DD BOCED Bwo D1eIwd WE G GIDICBEE BV DT
SIOULBelten  QFTBBEHEBNTH Oy DB 611PSHI5. Gomgu] Geags @TMBL LWHILGSS Gymend
& uled Hemme| QFUIH. eOMIHIEEDHGS SO QFmBamens Flwns aupd SubBDms Geuiwl Geusmigul
alsHMGHUD GBS
Write a melody to the given words. Use one modulation and end in the tonic key. Write the words
correctly under the notes and add directions for performance. (Tempo, dynamics and phrasing).

The singing of woodwind, the sighing of strings,
The tension of brass that an orchestra brings,
Make the sound of a symphony stay in the mind,
And each time we hear it, more beauty we find.

\. S
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(b) o & g S8 ecod 88O ccunden e¢8s emd ©0wxs3 Busim.
esraumenaiouBmiell sieneuCuwignid BewiG UBY o STTemhise SHdH FADIGHULY a1pSHIH.
Write short notes on two of the following with examples.

(i) Prelude (ii) Cantata (iii) Invention (iv) Symphony (v) Opera

\ J
(e 890 acs» / wpussw unjss / Please turn over
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8. Ao Bum 0m0dd ecens’ gdo ecm 8x3 ¢ C omid8s ydn domd ¢ 8BRS wuwnsim.
A,B s Benip uGSHsaieadmha Breai® alamassr aisupd C ugHuiedmba @m alameadbed allent
o2 (105|5.
Answer two questions each from section A and B and one from C.

A) () BeBnc good 0eBda® w.dm vercd gus 8 oo™ ©.8n miBes Bdnd osim.
Sendlabaed HTevHH0 LUGITaImd Bmss CHTGHGGIWSTSES SHSUILIGL BmFl LmL LCLIT6Eems
aleufld@s.

Describe a piece of music that is considered as programme music from the Classical period.

() &8 soBved cfses wenst »C JO aus ecerlsl ecad »® »osim.
mrad Govaular L Emend GBI G, Seelmsseiu Bk umigseiea QUW) GHIGS.
State the characteristics of Jazz music and name two of its styles.

(II) 12 20 Bged R »d 8 egmdedes’ O Ddndidend Heddun ¢SOID.
12 umy yempeosemsn alandd, Simar LUGIMEACTagmar alugwrs avCrsl & &1 .
Explain the 12 bar blues and illustrate the progression in a stave.

(IV) ‘ecriedd eedmnd emi® cormcenn:s a8md Semd wostm.
‘Omra@Lr CgmemBmT BGumD Qe o HTTHIHIIL &1 alenbEsm.
Explain Rondo Sonata form giving an example.

.......................................................................................................................................
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B) () 8 crBus 2298 »® s 8 »C Bz3 Omd 8EACD wdSHHIBODE DI,
Beomienauileas Bl (WaBdell  apeiflenr Ly GHINW.G, Seubpielt gCHEID  @eTenmL LM
6N G 5.
Name three Sri Lankan dance forms and explain one in detail.

(D) gecsediBm s.dmed w10 DO 8dedd go® ©® wdm wredd) BEnd woxtm.
Bevdgeiuwisd @amsuiled USTLUGHSILGL (PSS Fapibmeiid Hmad smalsamenud aleufHdEs.
Describe the specific devices and instruments used in Electronic music.

(III) ecB2Oc gowwz’ D% o8 @ESn 8.8 Loonws BeeEDmeG DIzIm.
Bmg uBBiw eflLwinibenen sPTUHE HeanFlbeed Bens Bapsd gambaner alivjgend CFuls.
Write a classical music concert review discussing the musical aspects.

(IV) 2080 codDE 298 n® oo »H® »d 9 Y Bednd wo=im.
CuameudBaHw HTBEHeN HLT algaIhise ghslmas GUHULTLG SeubpeT apaim Uil alafdsgs.
Name five dance forms of Western countries and describe three of them.

(gems 890 dcs» / wpuesd utiss / Please turn over
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© oD § B 0Bowes’ gneds’ 9 guned O8mvcIme, 308 daews’ Oy/dw By g s’
LW ¢ D ewdews’ Basdm.
el Bens  UoHGBIdEHsT @uuHauflal aImpdbad ayeIBrlaa Gamphea Seflar (e
SEHHIBET GIRINL 2 6leN_SHSTE H(HGHIONE GH(IDHID.
Write brief biographical details of one of the following composers including at least two of his/her
important works.

(a) Bartok (b) Stravinsky (c) Kodaly (d) Prokofiev (e) Gershwin (f) Britten

@ 8o 9 0¢®g v svo & .
dmisen, SHOPU UsMisen SCp &SI [BeiTened.
Sinhala and Tamil terms are given below.

é@tﬁﬁf@o
Betssito

aredinen
gdedines

), 8ymes 68D

1QO\F 6iTigmI SieuGyraewid

e5yJ0 ==13et Cpm_

@308
©0edd
230D
&¢®

30
eededis’
Yot
Dsideeded

5 letto{oNetes
BH®cs
383z

8d®w

@z

&3 0
©o®nben €odn
® o 88®

Aeoeney
(Al
&6l
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EFOI@ et
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L_greirerdGuimerd

6TV LD
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